0.8

2 - i
s ]
2 0.7k 1
3 0.6 -
= N ]
+ 0.6 ]
2 - i
[ C 0.5
L 0.5 ]
0.4F 0.4 -
0.3F ]
N 0.3
0.2 ]
ry 0.2
0.1— ]
O-:I 11 1 E 11 1 1 E 11 1 1 E 11 1 1 E 11 1 1 E 11 1 1 E 11 :. "‘
O : : : : : : T T T T T T T T T T T T T T T T T T T T T
£ F | 5 ; 5 ; 0.02 003 004 005 0.06
0% - —=— DOl origimaf -
- : ! |—e— D mod_models_truthfinal modelTEST-29
0.95f------- SR RET R o —— D mod_models”truthallhits_model TEST-29
3 : i |—— D mod_models_truthfinal_reg_modelTEST-24
C —— DOM_TT__mod_models_truthallhifs_reg _modelTEST-21

0.9

0.02 0.03 0.04 0.05 0.06 0.07
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